sin A :g A ff, cosA + tanA ] FH2? (T, 0° <A <90°)
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tan45° =
@ tan tan45b°

1
@ sin?30° + cos?60° = 3
@COS30° 4+ cos60° = cos90°
@ sin45° = cos45° X tan 45 °

® sin?30° +cos?30° =1
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the 273 2ol WHE Y Aol7h1 ¢l AR
o tisto] /DAB = x, ZADB =y, /DEC = ¢
gt o, s F A 22 A2

@® siny =sinz @ cosy = cosz

(@)tanx:tanz @ cosz=BD
® tanx = CE

~&B

(ADB = /DEC °|E&
siny = sinz = AB, cosy = cosz = BD
AC 1

tanx:@, tanz = — = —
CE CE
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OB=8><cos60°:8><§=4(cm)
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167 X 43 x 5= 8 3\/571( m3) o]t}
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O 12 @ 13 ® 14

@ 15 (@)16
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AH = 8sin30° =4

CH = 8c0s30° =43

BH =4+3tan60° = 4v3x V3 =12
~AB=AH+BH=4+12=16
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DABCD = AABC+AADC =

% x 10 x 2v3 x

. 1
sin (180° — 150°) + 5 X
16 x 12 X sin 60°

1 1 1
= §x10x2\/§x§+§x
16x12x Y3

2
=5v3+48V3=53V3




7. xof TSt ojAAHA 2x2 — 11x +a = 0 9 §F 2°] sin 90° + cos 0°
A, q o] S FotA?

@4 o1 612 eun 61

O AP A A 2x2 —1lx+a=09° x =2 S HYSIH, 2x 22 -
11x2+a=0
8_22+a207 a:14
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flo

tan(A — 15°) = 1 ©]21, x* — 2xtan A - 3(tanA)? = 0 &] & &
TSHA? (T 0° < A <90°)

® 3323  @-v33v3i @23
@ 23, V3 ® -V3, -3V3

tan45° = 1 O]|B&2 A - 15° = 45°, A = 60° o|c}. oj2hA
x% = 2tan 60°x — 3(tan 60°)% = x> —2V3x -9 = 0 o]t} =&
FoH (x=3V3)(x+ V3) =0, x=3V3, - V3 oIt




